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Question No. 1

एक �नि�चत रा�श को 5% के च�व�ृ� �याज पर �नवशे �कया गया, �याज क� गणना तीन वष� के �लए वा�ष�क �प स ेक�
गई। य�द आक�लत �याज �.2522 ह,ै तो मलूधन का पता लगाए।ँ
A)�.17000 B)�.10000
C)�.13000 D)�.16000

A certain sum of money  is  invested at 5% Compound Interest, compounded annually  for  three years.  If  the
computed interest is Rs.2522, then find the principal.
A)Rs.17000 B)Rs.10000
C)Rs.13000 D)Rs.16000
Answer Key : D Your Response : A (Wrong) Raise Objection(Question No. 1) (objection.aspx?qwr=3410135402&qwer=1)

Question No. 2

�न�न�ल�खत म� स े�कसन ेपहल� बार पाया �क प�ृवी सयू� के चार� ओर घमूती ह?ै
A)�यटून B)डा�टन
C)आइ��टाइन D)कोपर�नकस

Who among the following first discovered that the earth revolved around the Sun?
A)Newton B)Dalton
C)Einstein D)Copernicus
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 2) (objection.aspx?qwr=3410135402&qwer=2)

Question No. 3

य�द 'JOSEPH' को 'FKOALD' के �प म� कूटब� �कया जाता ह,ै तो 'GEORGE' को कैस ेकूटब� �कया जाएगा?
A)JAKINS B)CAKNCA
C)CAKNIT D)CADMNO

If 'JOSEPH' is coded as 'FKOALD', then how will 'GEORGE' be coded?
A)JAKINS B)CAKNCA
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C)CAKNIT D)CADMNO
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 3) (objection.aspx?qwr=3410135402&qwer=3)

Question No. 4

'�बग बने' कहा ँपर ि�थत ह?ै
A)ब�ल�न B)�य ूयाक�
C)प�ैरस D)ल�दन

Where is Big Ben located?
A)Berlin B)New York
C)Paris D)London
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 4) (objection.aspx?qwr=3410135402&qwer=4)

Question No. 5

(1, 2), (2, 3), (x, 4) �बदंओु ं�वारा �न�म �त ��भजु का ��ेफल 40 वग� इकाई ह।ै 'x' का मान �ात कर�।
A)-77 B)25
C)39 D)-17

The area of the triangle formed by the points (1, 2), (2, 3), (x, 4) is 40 sq. units. Find the value of 'x'.
A)­77 B)25
C)39 D)­17
Answer Key : A Your Response : B (Wrong) Raise Objection(Question No. 5) (objection.aspx?qwr=3410135402&qwer=5)

Question No. 6
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Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 6) (objection.aspx?qwr=3410135402&qwer=6)

Question No. 7
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दातं� के डॉ�टर �वारा दातं� को �काश म� जाचँन ेके �लय े�कस �कार के शीश ेका उपयोग �कया जाता ह?ै
A)चपटा (�लने) B)�लानोकॉ�व�ेस

C)उ�तल D)अवतल

Which type of mirror is used by dentists to concentrate light on the tooth to be examined?
A)Plane B)Planoconvex
C)Convex D)Concave
Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 7) (objection.aspx?qwr=3410135402&qwer=7)

Question No. 8

एक लाइ�रे� म� र�ववार� को औसतन 510 आगतंकु आत ेह� और अ� य �दन� म� औसतन 240 आगतंकु आत ेह�। र�ववार स ेश�ु
होन ेवाल े30 �दन� के मह�न ेम� ��त�दन आगतंकु� क� औसत स�ंया �ात कर�।
A)250 B)276
C)285 D)280

A  library  has an average of  510  visitors  on Sundays and 240 on other  days. Find  the average number  of
visitors per day in a month of 30 days beginning with a Sunday.
A)250 B)276
C)285 D)280
Answer Key : C Your Response : A (Wrong) Raise Objection(Question No. 8) (objection.aspx?qwr=3410135402&qwer=8)

Question No. 9

�न�न�ल�खत म� स े�कस खले स ेवडे �ॉफ� सबं�ंधत ह?ै
A)हॉक� B)फुटबॉल
C)ट�ेनस D)बा�केटबाल

With which of the following games is the Wade Trophy associated?
A)Hockey B)Football
C)Tennis D)Basketball
Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 9) (objection.aspx?qwr=3410135402&qwer=9)

Question No. 10

एक दकुानदार �.70 पर 70 पसै ेका लाभ कमाता ह।ै उसका लाभ ��तशत �ात क�िजए।
A)7% B)0.1%
C)1% D)10%

A shopkeeper gains 70 paise on Rs.70. Find his gain percentage.
A)7% B)0.1%
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C)1% D)10%
Answer Key : C Your Response : D (Wrong) Raise Objection(Question No. 10) (objection.aspx?qwr=3410135402&qwer=10)

Question No. 11

दो स�ंयाए ं5 : 8 के अनपुात म� ह�। य�द ��यके म� 12 जोड़ा जाता ह,ै तो उनका अनपुात 3 : 4 हो जाता ह।ै पहल� स�ंया
का मान पता कर�।
A)20 B)16
C)10 D)15

Two numbers are in the ratio of 5 : 8. If 12 is added to each, then they are in the ratio of 3 : 4. Find the value
of the first number.
A)20 B)16
C)10 D)15
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 11) (objection.aspx?qwr=3410135402&qwer=11)

Question No. 12

�न�न�ल�खत जानकार� को सावधानीपवू�क पढ़� और नीच े�दए गए ��न का उ�तर द�। आठ �यि�त - अ�ण, राज, सोन,ू �वनय,
�शवा, बाब,ू शखेर और गोकुल एक इमारत क� आठ अलग-अलग मिंज़ल� पर रहत ेह�, ल�ेकन ज�र� नह� ं�क व ेइसी �म म�
रहत ेह�। इमारत क� सबस े�नचल� मिंज़ल पर नबंर एक �लखा ह,ै और उसके ऊपर क� मिंज़ल पर दो �लखा ह ैऔर यह �म
इसी �कार चलता ह ैतथा सबस ेऊपर क� मिंज़ल पर आठ �लखा ह।ै सोन ू5वी ंमिंज़ल पर रहता ह।ै सोन ूऔर गोकुल के बीच
केवल दो ह� लोग रहत ेह�। अ�ण, गोकुल के ठ�क नीच ेरहता ह।ै अ�ण और राज के बीच केवल चार लोग रहत ेह�। राज, शखेर
के ठ�क ऊपर रहता ह ैल�ेकन वह सबस ेऊपर� मिंजल पर नह� ंरहता। �शवा, एक सम स�ंया वाल� मिंज़ल पर रहता ह।ै �शवा
और �वनय के बीच दो लोग रहत ेह�। �न� न�ल�खत म� स ेमिंज़ल स�ं या 2 पर कौन रहता ह?ै
A)�वनय B)राज
C)गोकुल D)शखेर

Read  the  following  information  carefully  and  answer  the  question  given  below.  Eight  persons—Arun,  Raj,
Sonu, Vinay, Siva, Babu, Sekar and Gokul live on eight different floors of a building, but not necessarily in the
same order. The lowermost floor of the building is numbered one, the floor above that is numbered two and
so  on  till  the  topmost  floor  is  numbered  eight.  Sonu  lives  on  the  floor  numbered  5.  Only  two  people  live
between Sonu and Gokul. Arun lives immediately below Gokul. Only four people live between Arun and Raj.
Raj lives immediately above Sekar but not on the topmost floor. Siva lives on an even numbered floor. Two
people live between Siva and Vinay. Who among the following lives on the floor number 2?
A)Vinay B)Raj
C)Gokul D)Sekar
Answer Key : B Your Response : C (Wrong) Raise Objection(Question No. 12) (objection.aspx?qwr=3410135402&qwer=12)

Question No. 13

�न�न�ल�खत म� स ेकौनसी ट�म न े�ो कब�डी ल�ग 2018 के अ�ंतम मचै के �लए अह�ता �ा�त �कया ह?ै
A)त�मल थलाइवास और पटना पायर�ेस B)गजुरात फॉ�य�ून जाय�ंस और ब�गल�ु ब�ुस
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C)
तलेगु ुटाइट�स और ह�रयाणा �ट�लस�

D)
बगंाल वा�रयस� और दबगं �द�ल�

Which of the following teams qualified for the final match of Pro Kabaddi League 2018?
A)Tamil Thalaivas and Patna Pirates B)Gujarat Fortune Giants and Bengaluru Bulls
C)Telugu Titans and Haryana Steelers D)Bengal Warriors and Dabang Delhi
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 13) (objection.aspx?qwr=3410135402&qwer=13)

Question No. 14

एक कार न े840 �कमी क� दरू� एक समान ग�त स ेपरू� क�। य�द इसक� ग�त 10 �कमी/घटंा अ�धक होती, तो उस या�ा को
परूा करन ेम� 2 घटं ेकम समय लगता। कार क� ग�त बताए।ं
A)60 �कमी/घटंा B)42 �कमी/घटंा
C)40 �कमी/घटंा D)70 �कमी/घटंा

A car covered 840 km with a uniform speed. Had its speed been 10 km/hr more, it would have taken 2 hours
less for the journey. Find the speed of the car.
A)60 km/hr B)42 km/hr
C)40 km/hr D)70 km/hr
Answer Key : A Your Response : B (Wrong) Raise Objection(Question No. 14) (objection.aspx?qwr=3410135402&qwer=14)

Question No. 15
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Answer Key : B Your Response : C (Wrong) Raise Objection(Question No. 15) (objection.aspx?qwr=3410135402&qwer=15)

Question No. 16

(0.756 × 0.75) को ��तशत के �प म� कैस े�लखा जा सकता ह?ै
A)56.1% B)56.7%
C)57.9% D)58.7%

How can (0.756 × 0.75) be written in the form of percentage?
A)56.1% B)56.7%
C)57.9% D)58.7%
Answer Key : B Your Response : A (Wrong) Raise Objection(Question No. 16) (objection.aspx?qwr=3410135402&qwer=16)

Question No. 17

राज�� गगंानी �न�न�ल�खत म� स े�कस न�ृय स ेसबं�ंधत ह�?
A)भरतना�यम B)कथक
C)कु�चपड़ुी D)ओ�डसी

With which of the following dances is Rajendra Gangani associated?
A)Bharatanatyam B)Kathak
C)Kuchipudi D)Odissi
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 17) (objection.aspx?qwr=3410135402&qwer=17)

Question No. 18
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�ृंखला को परू� कर�। 143, 120, 99, 80, 63, (…)
A)49 B)50
C)48 D)51

Complete the series. 143, 120, 99, 80, 63, (…)
A)49 B)50
C)48 D)51
Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 18) (objection.aspx?qwr=3410135402&qwer=18)

Question No. 19

ि�ल�पसज़ आफ़ँ व�ड� �ह�टर�' नामक �कताब के लखेक कौन ह�?
A)अबलु कलाम आज़ाद B)इनम� स ेकोई �वक�प नह�ं
C)डॉ. S. राधाकृ�णन D)जवाहरलाल नहे�

Who is the author of the book 'Glimpses of World History'?
A)Abul Kalam Azad B)None of the options
C)Dr. S. Radhakrishnan D)Jawaharlal Nehru
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 19) (objection.aspx?qwr=3410135402&qwer=19)

Question No. 20

कौनसा श�द नीच े�दए गए सबंधं को सबस ेबहेतर तर�के स ेपरूा करगेा? सागर : पोखर :: �कलोमीटर : ?
A)मील� B)ह�ैटर
C)एकड़ D)�मल�मीटर

Which word will best complete the relationship given below? Ocean : Puddle :: Kilometre : ?
A)Miles B)Hectare
C)Acre D)Millimetre
Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 20) (objection.aspx?qwr=3410135402&qwer=20)

Question No. 21

�वषम बताए।ं
A)I B)Y
C)F D)R

Find the odd one out.
A)I B)Y
C)F D)R
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 21) (objection.aspx?qwr=3410135402&qwer=21)

Question No. 22
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स�ुीम कोट� के �यायाधीश� क� सवेा �नविृ�त क� आय ु�या ह?ै
A)65 वष� B)70 वष�
C)60 वष� D)75 वष�

What is the retirement age of the Supreme Court Judges?
A)65 years B)70 years
C)60 years D)75 years
Answer Key : A Your Response : C (Wrong) Raise Objection(Question No. 22) (objection.aspx?qwr=3410135402&qwer=22)

Question No. 23

हमार ेस�ंवधान का �न�न�ल�खत म� स ेकौनसा अन�ु छदे ज�म ूऔर क�मीर को �वशषे दजा� �दए जान ेस ेसबं�ंधत ह?ै
A)अन�ुछदे 352 B)अन�ुछदे 356
C)अन�ुछदे 360 D)अन�ुछदे 370

Which of the following Articles of our constitution deals with the special status of Jammu and Kashmir?
A)Article 352 B)Article 356
C)Article 360 D)Article 370
Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 23) (objection.aspx?qwr=3410135402&qwer=23)

Question No. 24
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Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 24) (objection.aspx?qwr=3410135402&qwer=24)

Question No. 25

�न�न�ल�खत �प स े नीच े सचूना को सावधानीपवू�क पढ़� और नीच े �दए गए ��न का उ�तर द�। �कसी कंपनी �वारा एक
माक��टगं अ�धकार� के चयन के �लए �न�न मापदडं �दए गए ह�। ��तभागी को अव�य ह�: (i) कम स ेकम 50% अकं� के साथ
�नातक हो। (ii) �ल�खत पर��ा म� कम स ेकम 40% अकं �ा�त हो। (iii) 10 �दसबंर, 1996 को �यनूतम आय ु24 वष� से
कम और अ�धकतम आय ु29 वष� स ेअ�धक नह� ंहोनी चा�हएे। (iv) कम स ेकम दो वष� तक माक��टगं अ�धकार� के �प म�
काम करन ेका अनभुव हो। �कसी ऐस ेमामल ेम� जहा ँउ�मीदवार सभी मापदडं को परूा करता/ती हो �सवाए (iv) के, ल�ेकन
उसके पास माक��टगं �बधंन म� कोई �ड�लोमा हो, तो उसके मामल ेको महा �बधंक, माक��टगं के पास भजेना होगा। �कसी ऐसे
मामल ेम� जहा ँउ�मीदवार सभी मापदडं को परूा करता/ती हो �सवाए (iii) के, ल�ेकन उसन ेमाक��टगं अ�धकार� के �प म� तीन
वष� तक काम �कया हो, तो उसके मामल ेको �नदशेक, माक��टगं के पास भजेना होगा। समुन न ेमाक��टगं �बधंन म� �थम
�णेी म� परा�नातक क� �ड�ी पणू� क� ह।ै उसका ज�म 5 अग�त, 1972 को हआु था। वह �पछल े4 वष� स ेएक स�ंथा म� एक
माक��टगं अ�धकार� के �प म� काम कर रहा ह।ै उसन े�ल�खत पर��ा म� 50% अकं �ा�त �कए ह�।
A)उ�मीदवार का चयन नह� ं�कया जा सकता है B)उ�मीदवार को महा �बधंक, माक��टगं के पास भजेा जाना

होगा।
C)उ�मीदवार को �नय�ुत �कया जाना चा�हए D)डटेा अपया��त

Study the following information carefully and answer the question given below. Following are the criteria for
selecting a marketing officer by a company. The candidate must: (i) Be a graduate with at least 50% marks.
(ii) Have secured at least 40% marks in the written test. (iii) Not be less than 24 years and not more than 29
years as on 10 December 1996.  (iv) Have work experience of at  least  two years as a marketing officer.  In
case a candidate satisfies all  the other criteria EXCEPT (iv), but has a diploma  in Marketing Management,
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his/her case is to be referred to the General Manager, Marketing. In case a candidate satisfies all the other
criteria EXCEPT  (iii),  but  has worked  as  a marketing  officer  at  least  for  three  years,  his/her  case  is  to  be
referred to the Director, Marketing. Suman has done his post graduation in Marketing Management with first
class. He was born on 5 August, 1972. He has been working in an organization as a marketing officer for the
last 4 years. He has secured 50% marks in the written test.
A)The candidate cannot be appointed B)The  candidate  has  to  be  referred  to  the  Director,

Marketing
C)The candidate has to be appointed D)Data inadequate
Answer Key : D Your Response : A (Wrong) Raise Objection(Question No. 25) (objection.aspx?qwr=3410135402&qwer=25)

Question No. 26

दो स�ंयाओ ंका योग 25 ह ैऔर उनके वग� का अतंर 75 ह।ै उन दो स�ंयाओ ंके बीच का अतंर �या ह?ै
A)3 B)5
C)8 D)2

The sum of two numbers is 25 and the difference of their squares is 75. Find the difference between the two
numbers.
A)3 B)5
C)8 D)2
Answer Key : A Your Response : B (Wrong) Raise Objection(Question No. 26) (objection.aspx?qwr=3410135402&qwer=26)

Question No. 27
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Answer Key : C Your Response : D (Wrong) Raise Objection(Question No. 27) (objection.aspx?qwr=3410135402&qwer=27)

Question No. 28

असगंत को चनु�।
A)9, 80 B)3, 8
C)5, 24 D)7, 50

Find the ODD one out.
A)9, 80 B)3, 8
C)5, 24 D)7, 50
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 28) (objection.aspx?qwr=3410135402&qwer=28)

Question No. 29

�न�न �भ�न� म� स ेकौन 75% के समान ह?ै
A)2/3 B)1/4
C)1/8 D)3/4

Which of these fractions is equivalent to 75%?
A)2/3 B)1/4
C)1/8 D)3/4
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 29) (objection.aspx?qwr=3410135402&qwer=29)

Question No. 30

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


�न�न खले� म� स े�कसके साथ श�द '�टाइमीड' का सबंधं ह?ै
A)पोलो B)कु�ती
C)म�ुकेबाज़ी D)गो�फ

With which of the following sports is the term 'Stymied' associated?
A)Polo B)Wrestling
C)Boxing D)Golf
Answer Key : D Your Response : C (Wrong) Raise Objection(Question No. 30) (objection.aspx?qwr=3410135402&qwer=30)

Question No. 31

स�ंवधान सभा का पहला स� कहा ँआयोिजत �कया गया था?
A)मुंबई B)नई �द�ल�
C)लाहौर D)कलक�ता

Where was the first session of the Constituent Assembly held?
A)Bombay B)New Delhi
C)Lahore D)Calcutta
Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 31) (objection.aspx?qwr=3410135402&qwer=31)

Question No. 32

F, R का बटेा ह।ै E, S क� मा ँऔर F क� प�नी ह।ै R का E स े�या सबंधं ह?ै
A)जीजा B)�पता
C)डटेा अपया��त D)दामाद

F is the son of R. E is the mother of S and wife of F. How is R related to E?
A)Brother­in­law B)Father
C)Data inadequate D)Son­in­law
Answer Key : C Your Response : D (Wrong) Raise Objection(Question No. 32) (objection.aspx?qwr=3410135402&qwer=32)

Question No. 33

कौनसी स�ंया नीच े�दए गए सबंधं को सबस ेबहेतर तर�के स ेपरूा करगेी? 31 : 4 :: 84 : ?
A)4 B)22
C)16 D)10

Which number will best complete the relationship given below? 31 : 4 :: 84 : ?
A)4 B)22
C)16 D)10
Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 33) (objection.aspx?qwr=3410135402&qwer=33)
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Question No. 34

Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 34) (objection.aspx?qwr=3410135402&qwer=34)

Question No. 35
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"�वनोथ भा�कर का भाई ह,ै और मनोहर�, �वनोथ क� बहन ह।ै बाब,ू �ीथा का भाई ह,ै और �ीथा, भा�कर क� प�ुी ह।ै बाब,ु
भा�कर स ेकैस ेसबं�ंधत ह�?
A)भाई B)प�ु
C)मामा D)�पता

Vinoth  is  the brother of Bhaskar, and Manohari  is  the sister of Vinoth. Babu  is  the brother of Preetha, and
Preetha is the daughter of Bhaskar. How is Babu related to Bhaskar?
A)Brother B)Son
C)Uncle D)Father
Answer Key : B Your Response : A (Wrong) Raise Objection(Question No. 35) (objection.aspx?qwr=3410135402&qwer=35)

Question No. 36

भारत म� �न� न  म� स ेकौनसा सवेा ��े का �ह�सा नह� ंह?ै
A)ब��कंग B)प�रवहन
C)कृ�ष D)बीमा

Which of the following is NOT a part of service sector in India?
A)Banking B)Transport
C)Agriculture D)Insurance
Answer Key : C Your Response : A (Wrong) Raise Objection(Question No. 36) (objection.aspx?qwr=3410135402&qwer=36)

Question No. 37
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Answer Key : C Your Response : A (Wrong) Raise Objection(Question No. 37) (objection.aspx?qwr=3410135402&qwer=37)

Question No. 38

�थम 50 �ाकॄ�तक स�ंयाओ ंका औसत �ात कर�।
A)12.25 B)25
C)21.25 D)25.5

Find the average of the first 50 natural numbers.
A)12.25 B)25
C)21.25 D)25.5
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 38) (objection.aspx?qwr=3410135402&qwer=38)

Question No. 39

इस ��न म�, तीन कथन �दए गए ह� िजनके बाद चार �न�कष� �दए गए ह�। उस �न�कष� (�न�कष�) को चनु� जो ता�क�क �प से
सबस ेउपय�ुत ह।ै कथन: 1) सभी जगंल टाउ�स ह�। 2) सभी टाउ�स गावं ह�। 3) सभी शहर गावं ह�। �न�कष�: I. कुछ गावं
टाउ�स ह�। II. कुछ शहर टाउ�स ह�। III. कुछ शहर जगंल ह�। IV. कुछ गावं जगंल ह�।
A)केवल �न�कष� I और IV पालन करत ेह�। B)केवल �न�कष� II और IV पालन करत ेह�।
C)केवल �न�कष� II पालन करता ह।ै D)केवल �न�कष� I और II पालन करत ेह�।

In  this  question,  three  statements  are  given  followed by  four  conclusions. Choose  the  conclusion(s) which
best  fit(s)  logically. Statements: 1) All  jungles are  towns. 2) All  towns are villages. 3) All cities are villages.
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Conclusions:  I.  Some  villages  are  towns.  II.  Some  cities  are  towns.  III.  Some  cities  are  jungles.  IV. Some
villages are jungles.
A)Only conclusion I and IV follow B)Only conclusion II and IV follow
C)Only conclusion II follows D)Only conclusion I and II follow
Answer Key : A Your Response : B (Wrong) Raise Objection(Question No. 39) (objection.aspx?qwr=3410135402&qwer=39)

Question No. 40

�न�न�ल�खत म� स े�कस स�ाट न ेताजमहल का �नमा�ण �कया था?
A)अकबर B)बाबर
C)शाहजहां D)औरगंज़बे

Who among the following emperors built the Taj Mahal?
A)Akbar B)Babur
C)Shah Jahan D)Aurangazeb
Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 40) (objection.aspx?qwr=3410135402&qwer=40)

Question No. 41

�न�न�ल�खत म� स े�कसको "�ाई आइस" के �प म� जाना जाता ह?ै
A)इनम� स ेकोई �वक�प नह�ं B)तरल काब�न डाइऑ�साइड
C)ठोस काब�न डाइऑ�साइड D)गसैीय काब�न डाइऑ�साइड

Which of the following is known as "Dry ice?"
A)None of the options B)Liquid carbon dioxide
C)Solid carbon dioxide D)Gaseous carbon dioxide
Answer Key : C Your Response : D (Wrong) Raise Objection(Question No. 41) (objection.aspx?qwr=3410135402&qwer=41)

Question No. 42

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 42) (objection.aspx?qwr=3410135402&qwer=42)

Question No. 43
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120 मीटर लबंी एक रलेगाड़ी �कसी पड़े को 6 सकेंड म� पार कर जाती ह।ै �कलोमीटर/घटंा म� �ने क� र�तार �या ह?ै
A)72 �कमी/घटंा B)75 �कमी/घटंा

C)60 �कमी/घटंा D)70 �कमी/घटंा

A 120 m long train crosses a tree in 6 seconds. What is the speed of the train in km/hr?
A)72 km/hr B)75 km/hr
C)60 km/hr D)70 km/hr
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 43) (objection.aspx?qwr=3410135402&qwer=43)

Question No. 44

�न�न म� स े�या नीच े�दए गए सबंधं को सबस ेबहेतर तर�के स ेपरूा करगेा? REASON : SFBTPO :: THINK : ?
A)UJKPM B)SGHMJ
C)UHNKI D)UIJOL

Which of the following will best complete the relationship given below? REASON : SFBTPO :: THINK : ?
A)UJKPM B)SGHMJ
C)UHNKI D)UIJOL
Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 44) (objection.aspx?qwr=3410135402&qwer=44)

Question No. 45
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Answer Key : B Your Response : D (Wrong) Raise Objection(Question No. 45) (objection.aspx?qwr=3410135402&qwer=45)

Question No. 46

भारतीय �व�ोह �न�न�ल�खत म� स े�कस वष� म ेश�ु हआु था?
A)1957 B)1557
C)1857 D)1657

In which of the following years did the Indian Mutiny begin?
A)1957 B)1557
C)1857 D)1657
Answer Key : C Your Response : A (Wrong) Raise Objection(Question No. 46) (objection.aspx?qwr=3410135402&qwer=46)

Question No. 47

केरल के वत�मान म�ुयम�ंी कौन ह�?
A)ऊ�मन चाडंी B)K. क�णाकरण
C)इनम� स ेकोई �वक�प नह�ं D)�पनाराई �वजयन

Who is the present Chief Minister of Kerala?
A)Oommen Chandy B)K. Karunakaran
C)None of the options D)Pinarayi Vijayan
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 47) (objection.aspx?qwr=3410135402&qwer=47)

Question No. 48
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इस ��न म�, एक कथन �दया गया ह ैऔर उसके बाद दो �न�कष� �दए गए ह।ै उस �न�कष� को चनु� जो तक� के आधार पर
सबस ेउपय�ुत हो। कथन: L > O = N ≤ M ≥ P �न�कष�: I. P ≤ O II. N > L
A)केवल �न�कष� I पालन होता ह।ै B)केवल �न�कष� II पालन होता ह।ै
C)ना तो �न�कष� I ना ह� II का पालन होता ह।ै D)दोनो �न�कष� I और II का पालन होता ह।ै

In  this question, one statement  is given  followed by  two conclusions. Choose  the conclusion(s) which best
fit(s) logically. Statement: L > O = N ≤ M ≥ P Conclusions: I. P ≤ O II. N > L
A)Only conclusion I follows B)Only conclusion II follows
C)Neither conclusion I nor II follows D)Both conclusions I and II follow
Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 48) (objection.aspx?qwr=3410135402&qwer=48)

Question No. 49

कोई धनरा�श साधारण �याज पर 20 वष� म� दगुनी हो जाती ह।ै �कतन ेवष� म� यह चार गनुा हो जाएगी?
A)80 वष� B)50 वष�
C)60 वष� D)40 वष�

A certain sum on Simple Interest become double in 20 years. In how many years it will become four times?
A)80 years B)50 years
C)60 years D)40 years
Answer Key : C Your Response : A (Wrong) Raise Objection(Question No. 49) (objection.aspx?qwr=3410135402&qwer=49)

Question No. 50

वष� 1975 म� आपातकाल क� घोषणा के समय भारत के रा��प�त कौन थ?े
A)शकंर दयाल शमा� B)V.V. �ग�र
C)ज़ा�कर हसुनै D)फख��ीन अल� अहमद

Who was the President of India at the time of proclamation of emergency in 1975?
A)Shankar Dayal Sharma B)V.V. Giri
C)Zakir Husain D)Fakhruddin Ali Ahmed
Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 50) (objection.aspx?qwr=3410135402&qwer=50)

Question No. 51

�न�न म� स ेकौन भारत म� �था�पत पहला रा���य उ�यान ह?ै
A)प�ेरयार रा���य उ�यान B)कॉब�ट रा���य उ�यान
C)वलेावदार रा���य उ�यान D)बडंीपरु रा���य उ�यान

Which of the following is the first National Park established in India?
A)Periyar National Park B)Corbett National Park
C)Velavadar National Park D)Bandipur National Park
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Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 51) (objection.aspx?qwr=3410135402&qwer=51)

Question No. 52

एक स�ंया को दगुन ेकरन ेके बाद इसम� 9 जोड़ �दया जाता ह।ै अगर प�रणामी स�ंया को �तगनुा कर �दया जाता ह ैतो यह
81 बन जाता ह।ै वह स�ंया �ा�त कर�।
A)7 B)9
C)8 D)5

A number is doubled and then nine is added to it. If the resultant is trebled, it becomes 81. Find the number.
A)7 B)9
C)8 D)5
Answer Key : B Your Response : C (Wrong) Raise Objection(Question No. 52) (objection.aspx?qwr=3410135402&qwer=52)

Question No. 53

तीन स�ंयाओ ंका योग 68 ह।ै य�द पहल� और दसूर� के बीच का अनपुात 2 : 3 ह ैऔर दसूर� और तीसर� का अनपुात 5 : 3
ह,ै तो दसूर� स�ंया पता कर�।
A)30 B)20
C)28 D)34

The sum of three numbers is 68. If the ratio between the first and the second is 2 : 3 and the second and the
third is 5 : 3, find the second number.
A)30 B)20
C)28 D)34
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 53) (objection.aspx?qwr=3410135402&qwer=53)

Question No. 54

�न�न�ल�खत जानकार� को सावधानीपवू�क पढ़� और नीच े�दए गए ��न का उ�तर द�। चार �यि�त ह�—अजंल�, बान,ु चा� और
द�पा। इन चार� म� स;े दो क� ��च हॉक� म� ह,ै दो क� ��केट म�, दो �च�कार ह�, एक गायक और एक नतृक ह।ै हर एक क�
��च एक आउटडोर खले म� ह ैऔर एक हॉबी का सबंधं ल�लत कला स ेह।ै i) अजंल� ना तो �च�कार ह ैऔर ना ह� हॉक�
खलेती ह।ै ii) बान ुनाचती नह� ंह।ै iii) नतृक� हॉक� खलेती ह।ै iv) बान ुऔर द�पा ��केट नह� ंखलेती ह�। �न�न म� स ेकौन
��केट खलेती ह?ै
A)चा� B)दोनो अजंल� और चा�
C)द�पा D)अजंल�

Read  the  following  information  carefully  and  answer  the  question  given  below.  There  are  four  persons—
Anjali, Banu, Charu and Deepa. Out  of  four  persons,  two are  interested  in  hockey,  two  in  cricket,  two are
painters, one is a singer and one is a dancer. Each person has one outdoor sports  interest and one hobby
connected with fine arts. i) Anjali is not a painter nor does she play hockey. ii) Banu does not dance. iii) The
dancer plays hockey. iv) Banu and Deepa do not play cricket. Who among the following play(s) cricket?
A)Charu B)Both Anjali and Charu
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C)Deepa D)Anjali
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 54) (objection.aspx?qwr=3410135402&qwer=54)

Question No. 55

एक आदमी दो �लटै को 1.995 लाख �पय ेक� दर स ेबचेता ह।ै एक पर वह 5% लाभ और दसूर ेपर, वह 5% हा�न �ा�त
करता ह।ै परू ेलनेदने म� उसका लाभ या हा�न ��तशत पता कर�।
A)2.5% हा�न B)0.25% हा�न
C)25% हा�न D)0.25% लाभ

A man sells two flats at the rate of Rs.1.995 lakh each. On one he gains 5% and on the other, he loses 5%.
Find his gain or loss per cent in the whole transaction.
A)2.5% loss B)0.25% loss
C)25% loss D)0.25% gain
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 55) (objection.aspx?qwr=3410135402&qwer=55)

Question No. 56

य�द 150 का 45% + 170 का x% = 317.5 का 40% ह,ै तो 'x' का मान �ात क�िजए।
A)29 B)22
C)30 D)35

If 45% of 150 + x% of 170 = 40% of 317.5, find the value of 'x'.
A)29 B)22
C)30 D)35
Answer Key : D Your Response : Not Answered Raise Objection(Question No. 56) (objection.aspx?qwr=3410135402&qwer=56)

Question No. 57

200 के 5% का 5% �कतना होगा?
A)25 B)0.25
C)50 D)0.50

What is 5% of 5% of 200?
A)25 B)0.25
C)50 D)0.50
Answer Key : D Your Response : Not Answered Raise Objection(Question No. 57) (objection.aspx?qwr=3410135402&qwer=57)

Question No. 58

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Answer Key : C Your Response : Not Answered Raise Objection(Question No. 58) (objection.aspx?qwr=3410135402&qwer=58)

Question No. 59

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


भारत का पहला रलेव े�व�व�व�यालय “नशेनल रले एडं �ासंपोट�शन इ�ंट��यटू (NRTI)” _________ म� ि�थत ह।ै
A)कानपरु B)वड़ोदरा

C)पटना D)अहमदाबाद

India’s first railway university, “National Rail and Transportation Institute (NRTI)” is located in­
A)Kanpur B)Vadodara
C)Patna D)Ahmedabad
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 59) (objection.aspx?qwr=3410135402&qwer=59)

Question No. 60

यनूान क� म�ुा �या ह?ै
A)यरूो B)�गलडस�
C)�ोनर D)�ाकं

What is the currency of Greece?
A)Euro B)Guilders
C)Kroner D)Franc
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 60) (objection.aspx?qwr=3410135402&qwer=60)
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